1. A rabbit and a kangaroo are having a race.  The race is 100 feet to a line and back again (a total of 200 feet.) The rabbit completes 3 jumps, each of 2 feet, in the same amount of time that the kangaroo completes 2 jumps each of 1 yard.  Who wins and by how much? (Remember: 1 yard = 3 feet.)
2. Mayumi wrote four tests each with a maximum possible mark of 105.  The average mark she obtained on these tests was 88.  What is the lowest score she could have achieved on one of these tests?

3. A dart is thrown at the square target shown.  Assuming that the dart hits the target randomly, what is the probability that it will be in the shaded region?
(Express your answer as a fraction in its simplest form.)
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4. Identical cubes are stacked in the corner of a room as shown.  How many of the cubes are not visible?
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5. What is the greatest possible difference between the areas of two rectangles whose perimeters are each 144 cm, if the length and width are both integers?

6. What is the units digit of 
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7. In the multiplication below, the digits have been replaced by letters: different letters represent different digits. The same letters represent the same digits.
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What is the value of the sum 
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8. A 5-digit number containing no zeros has no identical digits.  It contains 2 digits that are prime numbers, 2 digits that are square numbers, and one digit that is neither prime nor square.  The 3rd digit is twice the 5th digit.  The 4th digit is 6 more than the 2nd digit.  The 5th digit is 3 less than the 1st digit.
What is the number?
9. What is 
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10. In a plane, four distinct lines intersect the interior of a circle forming regions within the circle.  If m represents the maximum number of regions and n represents the minimum number, find m + n.

11. The operation 
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Find the value of 
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12. In the figure 
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13. Imagine a regular tetrahedron.  One face is painted green and the other sides are not painted. You have red, yellow and blue paint and a brush. With the rule that any face can only be painted in a single colour, how many different designs are possible? (You can use one, two or all three colours, as long as every side is painted.)

14. A large swimming pool needs to be drained of all its water for renovation work to be done. A pumping company has four different pumps A, B, C and D. By itself A takes 2 hours to pump out all the water, B takes 4 hours, D takes 16 hours and C & D pumping together take 16/9 hours in total.
Using pumps A, B and C how many minutes would it take to drain the entire pool?
15. In a dark room there are a large number of coloured pots, from which a blind man has to take out two. There are only 3 different types of pots: Red, Green and Blue. They are all identical other than their colour. He knows that the total number of pots in the room is exactly 110. He also knows that there are 10 more red pots than green pots and that the number of blue pots is half the number of green pots. What is the probability of the blind man taking out a red and a blue pot, in any order?

16. After a mathematics test, each of the twenty-five students in the class got a peek at the teacher’s grade sheet.  Each student noticed five A’s.  No student saw all the grades and no student saw her or his own grade.  What is the minimum number of students who scored an A on this test?

17. A number x is divisible by the numbers 2, 3, 4, 5, 8 and 9, but leaves a remainder of 5 when divided by 7. Find the smallest possible value of x.
18. How many numbers greater than ten thousand can be formed with the digits 0, 1, 2, 2, 3 without repetition? (Note that the digit 2 appears exactly twice in each number formed.)
19. The cost of a party of 43 people was $229. If each man paid $10, each woman paid $5 and each child paid $2, what was the largest possible number of men at the party?
20. In the figure 
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[image: image16.wmf]APB

Ð

.


[image: image17.wmf]C

N

B

P

A

M

35


21. Two square patios are to be paved with slabs 1 metre square. The total number of slabs is 2120 for both patios. One patio has a side which is 12 metres less than the side of the larger patio. What is the total perimeter of the two patios?

22. Find the value of 
[image: image18.wmf]222222

123420072008

-+-+×××+-


23. Stephen’s stamp collection consists of three albums. Two tenths of his stamps are in the first album, several sevenths in the second album, and there are 303 stamps in the third album. How many stamps does Stephen have?
24. Amityville and Brookville are two stations. Two trains started simultaneously from Amityville and Brookville, each traveling towards the other station. After they met, one train needed another nine hours to reach Brookville and the other train needed another four hours to reach Amityville. Find the time taken for the slower train to reach Brookville from Amityville.
25. Find the smallest positive integer x such that x2 ends with the four digits 9009.
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